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�� �$�� ����� � !��� �� %��%"���� �$� &��"� � � ����� �$�� ������� �� '()�
!$��� �$� �� ��� ����� ����� �� ������ �� �$� *���%$ ���#��� *�� � ������+
������ � �$�� ������ !$�%$ �� "��� �� ���%��, �������� ���� %�����,��� %�����
��� !$�%$ �� � ���%���� ���� -���%��� ������ � ������ �� �$� ���,���� �����
'.)� /�&���$����� �� ����� �� ��%��� ���� ��-������� ��� ����  "���������
0"�������� �$�� ����� �� �$�� ������ *���� � ��� !� ��-�� � ���%�"��  "�%����
P : R+ × R+ → R+ �"%$ �$��� � (t, T ) ∈ R+ × R+� !$��� t �� �$� -��� �������
� �$� ��&������� ��� T �� �$� ���� �� ���"�����

P (t, 0) = 1 ∀ t ∈ R+ �.�

lim
T→∞

P (t, T ) = 0 ∀ t ∈ R+ �(�

1$� �� ��� ����� ����� �� � ���%���� ���� ������ �$��� ��� �$� ��������
&�������� t ��� T ���"�� ���%���� &��"�� !$�%$ $�&� ������%� Δ ∈ R2 $��%�
t = nΔ ��� T = NΔ� !��$ n, N ∈ N� 3� %�� ���"�� Δ = 1� 1$� ���%�"��
 "�%���� %�� �� ����-��� �� P : N × N → R+ ��� �$� %��������� �.� ��� �(�
��,��



.4� �� ����������

P (n, 0) = 1 ∀ n ∈ N �	�

lim
N→∞

P (n, N) = 0 ∀ n ∈ N �4�

�� �$�� ����� �$� ���%�"��  "�%���� �&��&�� ����, � �������� �����%�5 �� ����
n = 1 �� �� ���%�-�� �� �!� ��������  "�%����� P0(1, N) � P1(1, N)2 P (0, N) ,���
�� �$�� �!� ������ !��$ ����������� �����%��&��� p ��� 1 − p�

P1(1, N)

P (0, N)

1−p
���������������

p
���������������

P0(1, N)

6� � ,�����% ���� n �$� ���,��� ��

Pi+1(n + 1, N)

Pi(n, N)

1−p
�����������������

p
�����������������

Pi(n + 1, N)

1$� ���"������ � �$� ����� �� �$�� �!�  "�%����� h+ : N → R ��� h− : N → R
�7��� �"%$ �$��

Pi+1(n + 1, N) =
Pi(n, N + 1)

Pi(n, 1)
h+(N) �8�

Pi(n + 1, N) =
Pi(n, N + 1)

Pi(n, 1)
h−(N) ���

*��� �	� ��  ����!� �$��

h+(0) = h−(0) = 1 �9�



	 
����� �� �
� �� ��� ����� ����� .4.

� �$� ���#�� �� �������,�+ ��� ��� %�������� �� "��0"� ����"�� � �����+
������ p∗ �0"�&����� �� p �7���� �"%$ �$�� �'	)� '4)�

(1 − p∗)h+(N) + p∗h−(N) = 1 �
�

�� �� �������� �� -�� �7���%�� �7���������  �� h+(0) ��� h−(0)2 �$�� ��� '.)

h+(N) =
1

1 + p∗(σN − 1)
�:�

h−(N) =
σN

p∗(σN − 1) + 1
�.��

!$���

σ ≡ 1 − (1 − p∗)h(1)

p∗h(1)
�..�

6� �� �� �$�!� �� '.)� �� �� ���� �������� �� -��

Pi(n, N) =
P (0, n + N)σN(n−i)

∏n
s=1 h+(N + n − s)

P (0, n)
∏n−1

s=1 h+(n − s)
�.(�

� �
� ����� H(N)

�� '() �� �� ������"%�� �$�  "�%���� Y : (n, N) ⊆ N × N → R �"%$ �$��

Yi(n, N) = ln

[
Pi(n, N)

P (0, n)

P (0, n + N)

]
�.	�

Y �� � ����"�� � �$� ������%� ���!��� �$�  ��!��� ���� ��� �$�  "�"�� ����
���� �� -��� �����7�������� !� %�� ������ � �� !��$ �$� ���# �����"� �'()�� ;�
�0"����� �.(� !� $�&� �$�  ����!��, �7��������  �� Y (n, N)5

Yi(n, N) = ln

∏n
s=1 h+(N + n − s)∏n−1

s=1 h+(n − s)
+ (n − i) ln σ = H(n, N) + (n − i) ln σN

�.4�

!$��� �� �� ��-���

H(n, N) ≡ ln

∏n
s=1 h+(N + n − s)∏n−1

s=1 h+(n − s)
�.8�

�������	��� ���� �� ��� ����� 	
� n �
 ������
 �� ��

H(N) ≡ lim
n→∞

H(n, N) =
N−1∑
s=0

ln

[
1 +

p∗

1 − p∗
σs

]
�.��
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	� ��������, �$� �7�������� �:� � h+ �:� �� �$� ��-������ � H(n, N) ���
��-���, n − s = j� !� -��

H(n, N) = ln

∏n−1
j=1 [1 + p∗(σj − 1)]∏n−1

j=0 [1 + p∗(σN+j − 1)]
⇒

⇒ H(n, N) =

n−1∑
j=1

ln[1 + p∗(σj − 1)] −
n−1∑
j=0

ln[1 + p∗(σN+j − 1)]

1$��

H(n, N) =

n−1∑
j=1

ln[1 + p∗(σj − 1)] −
n−1∑
j=0

ln[1 + p∗(σN+j − 1)] if N � n �.9�

H(n, N) =
N−1∑
j=1

ln[1 + p∗(σj − 1)] −
N+n−1∑

j=n

ln[1 + p∗(σj − 1)] if N < n �.
�

;�%�"�� N < ∞�  ��� �.
� ��  ����!� �$��

lim
n→∞

H(n, N) = lim
n→∞

{N−1∑
j=1

ln[1 + p∗(σj − 1)] −
N+n−1∑

j=n

ln[1 + p∗(σj − 1)]

}

�.:�

� !� ����-�� j = s + n �� �$� ��%��� �"� � �.:�� !� $�&�

lim
n→∞

H(n, N) = lim
n→∞

{N−1∑
j=1

ln[1 + p∗(σj − 1)] −
N−1∑
s=0

ln[1 + p∗(σs+n − 1)]

}

�(��

;�%�"�� 0 � σ < 1� �� �$�!� �� '.)� ��$� %��� σ = 1 �� ���&���� �� �$� ����� !�
$�&�

lim
n→∞

σn = 0

��� �$�� �(�� ��,��

H(N) =

N−1∑
j=1

ln[1 + p∗(σj − 1)] − N ln[1 − p∗] =

N−1∑
s=0

ln

[
1 +

p∗

1 − p∗
σs

]
�(.�
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N∫
0

ln

[
1 +

p∗

1 − p∗
σx

]
dx � H(N) �

N∫
0

ln

[
1 +

p∗

1 − p∗
σx

]
dx − ln[1 + p∗(σN − 1)]

�((�

��

	� 1$�  "�%���� ln[1 + p(σx − 1)]  �� p < 1 ��� σ < 1 �� ��,���&� ���
����%��� ��%������,� ���%�  �� �$� �"������� �� �$� ��-������ � H(N) �� ��
��"�

N∫
0

ln

[
1 +

p∗

1 − p∗
σx

]
dx �

N−1∑
s=0

ln

[
1 +

p∗

1 − p∗
σs

]
�(	�

1$� �.�� %�� ��!������ �� �$�  ����!��, ������5

H(N) =
N∑

s=0

ln

[
1 +

p∗

1 − p∗
σs

]
− ln

[
1 +

p∗

1 − p∗
σN

]
⇒

⇒ H(N) =
N∑

s=0

ln

[
1 +

p∗

1 − p∗
σs

]
− ln[1 + p∗(σN − 1)] + ln(1 − p∗) ⇒

⇒ H(N) =
N∑

s=1

ln

[
1 +

p∗

1 − p∗
σs

]
− ln[1 + p∗(σN − 1)]

*�� �$� �"������� �� �$� ���&��"� �0"����� �$�  ����!��, ���0"����� �� ��"�5

N−1∑
s=0

ln

[
1 +

p∗

1 − p∗
σs

]
�

N∫
0

ln

[
1 +

p∗

1 − p∗
σx

]
dx �(4�

��� ��%�"�� �$� ���� − ln[1 + p∗(σN − 1)] �� ������&�� !� $�&�

H(N) =

N∑
s=1

ln

[
1 +

p∗

1 − p∗
σs

]
− ln[1 + p∗(σN − 1)] �

�
N∫

0

ln

[
1 +

p∗

1 − p∗
σx

]
dx − ln[1 + p∗(σN − 1)] �(8�

1$��� ��� !� ������ �$� ��������� � �$� ������������
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'.) 1� <� =� ��� <� ���� 1��� <��"%�"�� >�&������ ��� 
��%��, �������� ����
?�����,��� ?������ ��� �
����� 
	 ������� !��� �� ��" �.:
���

'() @� *� ;�"����� @� <�#���&� =���� ?"�&� *�"%�"������ A��� *���%$ >��#��
*�� �$� �� ��� ����� >����� (�� 6*�� ?����0"�"� .::.� .5((8+(	��

'	) A� ���������� ;� �������� ������"%���� �� ���%$����% %��%"�"� �� -���%��
?$����� ��� ����� .::��

'4) A� ������ �� 
�"����� ��%�"�� /����  �� �$� ?�"��� ��&�������,�+ �, *�+
���������,������� (��8�

#����!�� $%��� ����


